Dividing Mixed Numbers
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1) 52 + 28 = 2) 81 + 6l =
3) 105 + 35 = 4) 58 + 25 =
5) 63 + 13 = 6) 72 + 31 =
7) 8% + 4% = 8 74 + 3l=
9) 62 + 1I= 10) 62 = 52 =
11) 82 + 28 = 12) 77 & 43 =
13) 82 + 12 = 14) 84 : 62 =
15) 82 + 32 = 16)102 + 52 =
17)82 + 11 = 18) 77 =+ 68 =
19)82 + 15 = 20) 8% + 53 =

21) 81 = eg - 22)87 = 7%:



Answers of Dividing Mixed Numbers

@ Solve.

1) 52 + 28 =25 2) 81 +6l=105
3) 105 + 35 = 33 4) 58 5+ 25 — ol
5) 63 + 13 =53 6) 72 + 31 =230
7) 8% + 43 =13 8 74 + 31 = 22
9) 62 + 11 =321 1062 + 54 = 12
11) 82 + 23 = 32 12) 71 + 43 = 11
13) 82 + 12 =52 14)84 + 62 =11
15)82 + 32 = 232 16) 102 + 52 = 2
17)82 + 11 =74 18) 77 + 65 = 15
19)82 + 11 =73 20)8% = 53 =14

21)81 + 62 =12 22)87 + 78 = 18



